

On systems of nonlinear functional differential equations of fractional multi-order

R. Sari and L. Nisse

*Laboratory of Applied Mathematics,
Badji Mokhtar-Annaba University,
P.O. Box 12, Annaba 23000, Algeria.*

Abstract

This paper is devoted to a nonlinear system of multi-order fractional differential equations with variable delays. Using the contraction principle, we show the existence and uniqueness of the solution. Furthermore, we prove the stability of the solution.

AMS subject classification: 26A33, 34K37, 34D20.

Keywords: Caputo fractional derivatives, nonlinear system of fractional differential equations, contraction principle, stability.

1. Introduction

In the last few years the theory of fractional differential equations had an important role in the real world. Indeed, this type of equations have various applications in physics, biology, chemistry, engineering, etc. see for example [1, 2, 3, 4, 6,7].

In the present work, we initiate the study of the nonlinear system of fractional differential equations with variable delays $\tau_j = \tau_j(t)$, and of multi-order $\alpha = (\alpha_1, \dots, \alpha_n)$ of the form

$${}^c D^{\alpha_i} x_i(t) = \sum_{j=1}^n f_{ij}(t, x_i(t), x_j(t - \tau_j(t))), \quad i = \underline{1, n}, \quad t > 0, \quad (1.1)$$

$$x(t) = \Phi(t) = (\phi_1(t), \dots, \phi_n(t)), \quad t \in [-\tau, 0]. \quad (1.2)$$

Where ${}^c D^{\alpha_i}$ denotes the Caputo fractional derivation of order $\alpha_i \in]0, 1[$ for $i = 1, \dots, n$. Here, we assume that $f_{ij} : \mathbb{R}^+ \times \mathbb{R}^2 \rightarrow \mathbb{R}$ are continuous functions and

τ_j are continuous real-valued functions defined on \mathbb{R}^+ , such that

$\tau = \max \left\{ \sup_{t \in \mathbb{R}^+} \tau_j(t) : j = 1, 2, \dots, n \right\} > 0$, $\Phi(t)$ is a real-vector function defined on $[-\tau, 0]$ with values in \mathbb{R}^n .

Firstly in section 2, the definitions of Riemann–Liouville integral, and Caputo fractional derivative are introduced. Secondly in section 3, sufficient conditions for the existence and uniqueness of the solution of the problem (1.1)-(1.2) are given. Finally in section 4, we discuss the stability of the solution with respect to the orders of derivation and the initial condition.

2. Preliminaries

This section contains the definitions and properties of Riemann–Liouville fractional integral and Caputo fractional derivative (see [4, 7]), which will be used throughout this paper.

Definition 2.1. For all $T > 0$, the Riemann–Liouville fractional integral of a function $f \in L^1[0, T]$ of order $\alpha \in \mathbb{R}^+$ is defined by

$$I^\alpha f(t) := \frac{1}{\Gamma(\alpha)} \int_0^t (t-s)^{\alpha-1} f(s) ds, \quad t > 0$$

where Γ is the gamma function.

For $\alpha = 0$, we set $I^0 := Id$, the identity operator.

The semigroup property of Riemann–Liouville fractional integral is given by

Theorem 2.2. If $\alpha, \beta > 0$ and $f \in L^p[0, T]$ ($1 \leq p \leq \infty$), then

$$I^\alpha I^\beta f(t) = I^{\alpha+\beta} f(t) = I^\beta I^\alpha f(t)$$

at almost every point $t \in [0, T]$.

Definition 2.3. The Caputo fractional derivative of order $\alpha \in \mathbb{R}^+$ of the function f with $D^n f \in L^1[0, T]$ is defined by

$${}^c D^\alpha f(t) = I^{n-\alpha} D^n f(t) = \frac{1}{\Gamma(n-\alpha)} \int_0^t (t-s)^{n-\alpha-1} f^{(n)}(s) ds,$$

where $n-1 < \alpha \leq n$, $n \in \mathbb{N}^*$ and $D = \frac{d}{dt}$.

Theorem 2.4. If $f \in C[a, b]$ and $\alpha > 0$ ($n-1 < \alpha \leq n$), then

$${}^c D^\alpha I^\alpha f(t) = f(t).$$

3. Existence and uniqueness

In this section we give sufficient conditions for the existence and uniqueness of the solution of the problem (1.1)-(1.2). Firstly, based on the semigroup property we prove the following lemma.

Lemma 3.1. The vector function $x(t) := (x_1(t), \dots, x_n(t))$ is a solution of the problem (1.1)-(1.2) if and only if

$$x_i(t) = \begin{cases} \phi_i(0) + \sum_{j=1}^n I^{\alpha_i} f_{ij}(t, x_i(t), x_j(t - \tau_j(t))), & t > 0 \\ \phi_i(t), & t \in [-\tau, 0], i = 1, \dots, n. \end{cases} \tag{3.3}$$

Proof. For $t > 0$ and $i = \overline{1, n}$, the equation (1.1) can be written as

$$I^{1-\alpha_i} D x_i(t) = \sum_{j=1}^n f_{ij}(t, x_i(t), x_j(t - \tau_j(t))).$$

Applying the operator I^{α_i} on both sides, we obtain

$$\begin{aligned} I^1 D x_i(t) &= \sum_{j=1}^n I^{\alpha_i} f_{ij}(t, x_i(t), x_j(t - \tau_j(t))). \\ x_i(t) - x_i(0) &= \sum_{j=1}^n I^{\alpha_i} f_{ij}(t, x_i(t), x_j(t - \tau_j(t))). \end{aligned}$$

Then

$$x_i(t) = \phi_i(0) + \sum_{j=1}^n I^{\alpha_i} f_{ij}(t, x_i(t), x_j(t - \tau_j(t))).$$

■

Now, to show the existence and uniqueness of the solution of the problem (1.1)–(1.2) based on the contraction principle, let us fix firstly the appropriate functional framework see [5].

Let the Banach space $E = \{v \in C([-\tau, +\infty[, \mathbb{R}^n) : v(t) = \Phi(t), t \in [-\tau, 0]\}$ equipped with the distance defined for all x and y in E by

$$d_\lambda(x, y) := \sum_{i=1}^n \sup_{t \in \mathbb{R}^+} \{e^{-\lambda t} |x_i(t) - y_i(t)|\},$$

where $\lambda \in \mathbb{R}^+$ will be chosen later.

We define the continuous operator $F : E \rightarrow E$ by

$$(Fx)_i(t) = \begin{cases} \phi_i(0) + \sum_{j=1}^n I^{\alpha_i} f_{ij}(t, x_i(t), x_j(t - \tau_j(t))), & t > 0 \\ \phi_i(t), & t \in [-\tau, 0], i = \overline{1, n}. \end{cases}$$

Theorem 3.2. Assume that the following hypotheses are satisfied:

(H₁) Let $f_{ij} : \mathbb{R}^+ \times \mathbb{R}^2 \rightarrow \mathbb{R}$ be a continuous function, satisfying the Lipschitz condition

$$|f_{ij}(t, x_i, y_j) - f_{ij}(t, u_i, v_j)| \leq k_i |x_i - u_i| + h_j |y_j - v_j|,$$

where $k_i, h_j > 0, i, j = \overline{1, n}$.

(H₂) For $j = \overline{1, n}, \tau_j \in C(\mathbb{R}^+, \mathbb{R})$ and

$$\tau_j(t) > -\tau, \quad t > 0.$$

(H₃) For $j = \overline{1, n}, \exists t_j > 0$ such that

$$\begin{cases} \tau_j(t) \geq t, & \forall t \in [0, t_j], \\ \tau_j(t) < t, & \forall t \in]t_j, +\infty[. \end{cases}$$

(H₄)

$$\sum_{i=1}^n \tau^{\alpha_i} \left(nk_i + e \sum_{j=1}^n h_j \right) < 1.$$

Then the problem (1.1)-(1.2) has a unique solution.

Proof. Let $x, y \in E$, for $i = \overline{1, n}$ and $t > 0$ we have

$$\begin{aligned} & |Fx_i(t) - Fy_i(t)| \\ &= \left| \sum_{j=1}^n I^{\alpha_i} \{f_{ij}(t, x_i(t), x_j(t - \tau_j(t))) - f_{ij}(t, y_i(t), y_j(t - \tau_j(t)))\} \right| \\ &= \left| \sum_{j=1}^n \int_0^t \frac{(t-s)^{\alpha_i-1}}{\Gamma(\alpha_i)} \{f_{ij}(s, x_i(s), x_j(s - \tau_j(s))) - f_{ij}(s, y_i(s), y_j(s - \tau_j(s)))\} ds \right| \\ &\leq \sum_{j=1}^n \int_0^t \frac{(t-s)^{\alpha_i-1}}{\Gamma(\alpha_i)} |f_{ij}(s, x_i(s), x_j(s - \tau_j(s))) - f_{ij}(s, y_i(s), y_j(s - \tau_j(s)))| ds. \end{aligned}$$

From (H_1)

$$\begin{aligned}
 & |Fx_i(t) - Fy_i(t)| \\
 \leq & \sum_{j=1}^n k_i \int_0^t \frac{(t-s)^{\alpha_i-1}}{\Gamma(\alpha_i)} |x_i(s) - y_i(s)| ds \\
 & + \sum_{j=1}^n h_j \int_0^{t_j} \frac{(t-s)^{\alpha_i-1}}{\Gamma(\alpha_i)} |\phi_j(r_j(s)) - \phi_j(r_j(s))| ds \\
 & + \sum_{j=1}^n h_j \int_{t_j}^t \frac{(t-s)^{\alpha_i-1}}{\Gamma(\alpha_i)} |x_j(r_j(s)) - y_j(r_j(s))| ds \\
 \leq & nk_i \int_0^t \frac{(t-s)^{\alpha_i-1}}{\Gamma(\alpha_i)} |x_i(s) - y_i(s)| ds \\
 & + \sum_{j=1}^n h_j \int_{t_j}^t \frac{(t-s)^{\alpha_i-1}}{\Gamma(\alpha_i)} |x_j(r_j(s)) - y_j(r_j(s))| ds,
 \end{aligned}$$

where $r_j(s) = s - \tau_j(s)$.

So

$$\begin{aligned}
 & e^{-\lambda t} |Fx_i(t) - Fy_i(t)| \\
 \leq & nk_i \int_0^t \frac{(t-s)^{\alpha_i-1}}{\Gamma(\alpha_i)} e^{-\lambda(t-s)} e^{-\lambda s} |x_i(s) - y_i(s)| ds \\
 & + \sum_{j=1}^n h_j \int_{t_j}^t \frac{(t-s)^{\alpha_i-1}}{\Gamma(\alpha_i)} e^{-\lambda(t-r_j(s))} e^{-\lambda r_j(s)} |x_j(r_j(s)) - y_j(r_j(s))| ds
 \end{aligned}$$

$$\begin{aligned}
& e^{-\lambda t} |Fx_i(t) - Fy_i(t)| \\
& \leq nk_i \sup_{\zeta \in \mathbb{R}^+} \{e^{-\lambda \zeta} |x_i(\zeta) - y_i(\zeta)|\} \int_0^t \frac{(t-s)^{\alpha_i-1}}{\Gamma(\alpha_i)} e^{-\lambda(t-s)} ds \\
& + \sum_{j=1}^n h_j \sup_{\zeta \in \mathbb{R}^+} \left\{ e^{-\lambda r_j(\zeta)} |x_j(r_j(\zeta)) - y_j(r_j(\zeta))| \right\} \int_{t_j}^t \frac{(t-s)^{\alpha_i-1}}{\Gamma(\alpha_i)} e^{-\lambda(t-r_j(s))} ds.
\end{aligned}$$

Using a change of variable, we find

$$\begin{aligned}
& e^{-\lambda t} |Fx_i(t) - Fy_i(t)| \\
& \leq nk_i \sup_{\zeta \in \mathbb{R}^+} \{e^{-\lambda \zeta} |x_i(\zeta) - y_i(\zeta)|\} \frac{1}{\lambda^{\alpha_i}} \int_0^{\lambda t} \frac{u^{\alpha_i-1} e^{-u}}{\Gamma(\alpha_i)} du \\
& + \sum_{j=1}^n h_j \sup_{\zeta \in \mathbb{R}^+} \{e^{-\lambda \zeta} |x_j(\zeta) - y_j(\zeta)|\} \frac{1}{\lambda^{\alpha_i}} \int_0^{\lambda(t-t_j)} \frac{u^{\alpha_i-1}}{\Gamma(\alpha_i)} e^{-u} e^{-\lambda \tau_j(t-\frac{u}{\lambda})} du \\
& \leq nk_i \sup_{\zeta \in \mathbb{R}^+} \{e^{-\lambda \zeta} |x_i(\zeta) - y_i(\zeta)|\} \frac{1}{\lambda^{\alpha_i}} \int_0^{\lambda t} \frac{u^{\alpha_i-1} e^{-u}}{\Gamma(\alpha_i)} du \\
& + \sum_{j=1}^n h_j \sup_{\zeta \in \mathbb{R}^+} \{e^{-\lambda \zeta} |x_j(\zeta) - y_j(\zeta)|\} \frac{1}{\lambda^{\alpha_i}} \int_0^{\lambda(t-t_j)} \frac{u^{\alpha_i-1}}{\Gamma(\alpha_i)} e^{-u} e^{\lambda \tau} du \\
& \leq \frac{nk_i}{\lambda^{\alpha_i}} \sup_{\zeta \in \mathbb{R}^+} \{e^{-\lambda \zeta} |x_i(\zeta) - y_i(\zeta)|\} + \sum_{j=1}^n \frac{h_j e^{\lambda \tau}}{\lambda^{\alpha_i}} \sup_{\zeta \in \mathbb{R}^+} \{e^{-\lambda \zeta} |x_j(\zeta) - y_j(\zeta)|\} \\
& \leq \frac{nk_i}{\lambda^{\alpha_i}} d_\lambda(x, y) + \sum_{j=1}^n \frac{h_j e^{\lambda \tau}}{\lambda^{\alpha_i}} d_\lambda(x, y).
\end{aligned}$$

Then

$$\begin{aligned} & \sum_{i=1}^n \sup_{t \in \mathbb{R}^+} \{e^{-\lambda t} |Fx_i(t) - Fy_i(t)|\} \\ & \leq \left(\sum_{i=1}^n \frac{nk_i}{\lambda^{\alpha_i}} + \sum_{i=1}^n \sum_{j=1}^n \frac{h_j e^{\lambda \tau}}{\lambda^{\alpha_i}} \right) d_\lambda(x, y) \\ & \sum_{i=1}^n \sup_{t \in \mathbb{R}^+} \{e^{-\lambda t} |Fx_i(t) - Fy_i(t)|\} \\ & \leq \left(n \sum_{i=1}^n k_i \tau^{\alpha_i} + \sum_{i=1}^n \tau^{\alpha_i} \sum_{j=1}^n h_j e^{\lambda \tau} \right) d_\lambda(x, y), \quad \text{with } \tau = \frac{1}{\lambda} \\ & \leq \left(n \sum_{i=1}^n k_i \tau^{\alpha_i} + \sum_{i=1}^n \tau^{\alpha_i} \sum_{j=1}^n h_j e \right) d_\lambda(x, y). \end{aligned}$$

Finally

$$d_\lambda(Fx, Fy) \leq \sum_{i=1}^n \tau^{\alpha_i} \left(nk_i + e \sum_{j=1}^n h_j \right) d_\lambda(x, y).$$

As $\sum_{i=1}^n \tau^{\alpha_i} \left(nk_i + e \sum_{j=1}^n h_j \right) < 1$, then from the contraction principle the continuous operator $F : E \rightarrow E$ has a unique fixed point $x = Fx$, which is the unique solution of the problem (1.1) – (1.2). ■

4. Stability

Now, we study the stability of the solution of the problem (1.1) – (1.2) with respect to the orders of derivation and the initial condition in the sense of the following definition.

Definition 4.1. The solution x of the problem (1.1) – (1.2) is stable with respect to the initial condition and the orders of derivation if: $\forall \epsilon_1, \epsilon_2 > 0$, there exists a real constant $\delta > 0$ not depending on ϵ_1 and ϵ_2 , such that

$$d(\alpha, \bar{\alpha}) < \epsilon_1 \text{ and } \mathbf{d}(\Phi, \bar{\Phi}) < \epsilon_2 \Rightarrow d_\lambda(x, \bar{x}) < \delta \max\{\epsilon_1, \epsilon_2\},$$

where \bar{x} is a solution of the following problem

$${}^c D_i^{\bar{\alpha}_i} \bar{x}(t) = \sum_{j=1}^n f_{ij}(t, \bar{x}_i(t), \bar{x}_j(t - \tau_j(t))), \quad \bar{\alpha}_i \in]0, 1[, \quad i = \overline{1, n}, \quad t > 0, \quad (4.4)$$

$$\bar{x}(t) = \bar{\Phi}(t) = (\bar{\phi}_1(t), \dots, \bar{\phi}_n(t)), \quad t \in [-\tau, 0], \quad (4.5)$$

with

$$d(\alpha, \bar{\alpha}) = \max_{i=\overline{1, n}} |\alpha_i - \bar{\alpha}_i| \quad \text{and} \quad \mathbf{d}(\Phi, \bar{\Phi}) = \sum_{i=1}^n \max_{t \in [-\tau, 0]} |\phi_i(t) - \bar{\phi}_i(t)|.$$

Theorem 4.2. Assume that hypotheses $(H_1) - (H_4)$ of the precedent theorem are satisfied, and there exists a positive constant M such that

$$M = \max_{t \in \mathbb{R}^+} |f_{ij}(t, u, v)|, \quad i, j = 1, \dots, n.$$

Then for all $\eta \in]0, 1[$, the solution of the problem (1.1)-(1.2) is stable with respect to the initial condition and the orders of derivation in $[\eta, 1[$.

Proof. Let $x(t)$ and $\bar{x}(t)$ be the solutions of the problems (1.1)-(1.2) and (4.4)-(4.5), with $\alpha_i, \bar{\alpha}_i \in [\eta, 1[$, $i = \overline{1, n}$, and for $t > 0$ we have

$$\begin{aligned} x_i(t) - \bar{x}_i(t) &= \phi_i(0) - \bar{\phi}_i(0) \\ &\quad + \sum_{j=1}^n I^{\alpha_i} f_{ij}(t, x_i(t), x_j(t - \tau_j(t))) \\ &\quad - \sum_{j=1}^n I^{\bar{\alpha}_i} f_{ij}(t, \bar{x}_i(t), \bar{x}_j(t - \tau_j(t))) \\ x_i(t) - \bar{x}_i(t) &= \phi_i(0) - \bar{\phi}_i(0) \\ &\quad + \sum_{j=1}^n I^{\alpha_i} f_{ij}(t, x_i(t), x_j(t - \tau_j(t))) \\ &\quad - \sum_{j=1}^n I^{\alpha_i} f_{ij}(t, \bar{x}_i(t), \bar{x}_j(t - \tau_j(t))) \end{aligned}$$

$$\begin{aligned}
 & + \sum_{j=1}^n I^{\alpha_i} f_{ij}(t, \bar{x}_i(t), \bar{x}_j(t - \tau_j(t))) \\
 & - \sum_{j=1}^n I^{\bar{\alpha}_i} f_{ij}(t, \bar{x}_i(t), \bar{x}_j(t - \tau_j(t))) \\
 x_i(t) - \bar{x}_i(t) = & \phi_i(0) - \bar{\phi}_i(0) \\
 & + \sum_{j=1}^n I^{\alpha_i} \{f_{ij}(t, x_i(t), x_j(t - \tau_j(t))) - f_{ij}(t, \bar{x}_i(t), \bar{x}_j(t - \tau_j(t)))\} \\
 & + \sum_{j=1}^n \{I^{\alpha_i} - I^{\bar{\alpha}_i}\} f_{ij}(t, \bar{x}_i(t), \bar{x}_j(t - \tau_j(t))).
 \end{aligned}$$

Hence

$$\begin{aligned}
 & |x_i(t) - \bar{x}_i(t)| \\
 \leq & |\phi_i(0) - \bar{\phi}_i(0)| \\
 + & \sum_{j=1}^n \int_0^t \frac{(t-s)^{\alpha_i-1}}{\Gamma(\alpha_i)} |f_{ij}(s, x_i(s), x_j(s - \tau_j(s))) - f_{ij}(s, \bar{x}_i(s), \bar{x}_j(s - \tau_j(s)))| ds \\
 + & \sum_{j=1}^n \int_0^t \left| \frac{(t-s)^{\alpha_i-1}}{\Gamma(\alpha_i)} - \frac{(t-s)^{\bar{\alpha}_i-1}}{\Gamma(\bar{\alpha}_i)} \right| |f_{ij}(s, \bar{x}_i(s), \bar{x}_j(s - \tau_j(s)))| ds
 \end{aligned}$$

$$\begin{aligned}
 |x_i(t) - \bar{x}_i(t)| \leq & |\phi_i(0) - \bar{\phi}_i(0)| \\
 & + \sum_{j=1}^n k_j \int_0^t \frac{(t-s)^{\alpha_i-1}}{\Gamma(\alpha_i)} |x_i(s) - \bar{x}_i(s)| ds \\
 & + \sum_{j=1}^n h_j \int_0^{t_j} \frac{(t-s)^{\alpha_i-1}}{\Gamma(\alpha_i)} |\phi_j(s - \tau_j(s)) - \bar{\phi}_j(s - \tau_j(s))| ds \\
 & + \sum_{j=1}^n h_j \int_{t_j}^t \frac{(t-s)^{\alpha_i-1}}{\Gamma(\alpha_i)} |x_j(s - \tau_j(s)) - \bar{x}_j(s - \tau_j(s))| ds \\
 & + \sum_{j=1}^n \int_0^t \left| \frac{(t-s)^{\alpha_i-1}}{\Gamma(\alpha_i)} - \frac{(t-s)^{\bar{\alpha}_i-1}}{\Gamma(\bar{\alpha}_i)} \right| |f_{ij}(s, \bar{x}_i(s), \bar{x}_j(s - \tau_j(s)))| ds
 \end{aligned}$$

$$\begin{aligned}
|x_i(t) - \bar{x}_i(t)| &\leq \max_{s \in [-\tau, 0]} |\phi_i(s) - \bar{\phi}_i(s)| \\
&+ \sum_{j=1}^n \max_{s \in [-\tau, 0]} |\phi_j(s) - \bar{\phi}_j(s)| h_j \int_0^{t_j} \frac{(t-s)^{\alpha_i-1}}{\Gamma(\alpha_i)} ds \\
&+ \sum_{j=1}^n k_i \int_0^t \frac{(t-s)^{\alpha_i-1}}{\Gamma(\alpha_i)} |x_i(s) - \bar{x}_i(s)| ds \\
&+ \sum_{j=1}^n h_j \int_{t_j}^t \frac{(t-s)^{\alpha_i-1}}{\Gamma(\alpha_i)} |x_j(s - \tau_j(s)) - \bar{x}_j(s - \tau_j(s))| ds \\
&+ \sum_{j=1}^n \max_{\zeta \in \mathbb{R}^+} |f_{ij}(\zeta, \bar{x}_i(\zeta), \bar{x}_j(\zeta - \tau_j(\zeta)))| \int_0^t \left| \frac{(t-s)^{\alpha_i-1}}{\Gamma(\alpha_i)} - \frac{(t-s)^{\bar{\alpha}_i-1}}{\Gamma(\bar{\alpha}_i)} \right| ds
\end{aligned}$$

$$\begin{aligned}
|x_i(t) - \bar{x}_i(t)| &\leq \max_{s \in [-\tau, 0]} |\phi_i(s) - \bar{\phi}_i(s)| \\
&+ \sum_{j=1}^n \max_{s \in [-\tau, 0]} |\phi_j(s) - \bar{\phi}_j(s)| h_j \frac{[t^{\alpha_i} - (t-t_j)^{\alpha_i}]}{\Gamma(\alpha_i + 1)} \\
&+ nk_i \int_0^t \frac{(t-s)^{\alpha_i-1}}{\Gamma(\alpha_i)} |x_i(s) - \bar{x}_i(s)| ds \\
&+ \sum_{j=1}^n h_j \int_{t_j}^t \frac{(t-s)^{\alpha_i-1}}{\Gamma(\alpha_i)} |x_j(s - \tau_j(s)) - \bar{x}_j(s - \tau_j(s))| ds \\
&+ nM \int_0^t \left| \frac{(t-s)^{\alpha_i-1}}{\Gamma(\alpha_i)} - \frac{(t-s)^{\bar{\alpha}_i-1}}{\Gamma(\bar{\alpha}_i)} \right| ds.
\end{aligned}$$

Then

$$\begin{aligned}
e^{-\lambda t} |x_i(t) - \bar{x}_i(t)| &\leq e^{-\lambda t} \max_{s \in [-\tau, 0]} |\phi_i(s) - \bar{\phi}_i(s)| \\
&+ e^{-\lambda t} \sum_{j=1}^n \max_{s \in [-\tau, 0]} |\phi_j(s) - \bar{\phi}_j(s)| h_j \frac{[t^{\alpha_i} - (t-t_j)^{\alpha_i}]}{\Gamma(\alpha_i + 1)} \\
&+ nk_i \int_0^t \frac{(t-s)^{\alpha_i-1}}{\Gamma(\alpha_i)} e^{-\lambda(t-s)} e^{-\lambda s} |x_i(s) - \bar{x}_i(s)| ds \\
&+ \sum_{j=1}^n h_j \int_{t_j}^t \frac{(t-s)^{\alpha_i-1}}{\Gamma(\alpha_i)} e^{-\lambda(t-r_j(s))} e^{-\lambda r_j(s)} |x_j(r_j(s)) - \bar{x}_j(r_j(s))| ds \\
&+ e^{-\lambda t} nM \int_0^t \left| \frac{(t-s)^{\alpha_i-1}}{\Gamma(\alpha_i)} - \frac{(t-s)^{\bar{\alpha}_i-1}}{\Gamma(\bar{\alpha}_i)} \right| ds,
\end{aligned}$$

with $r_j(s) = s - \tau_j(s)$.

$$\begin{aligned}
 e^{-\lambda t} |x_i(t) - \bar{x}_i(t)| &\leq \max_{s \in [-\tau, 0]} |\phi_i(s) - \bar{\phi}_i(s)| \\
 &+ \sum_{j=1}^n \max_{s \in [-\tau, 0]} |\phi_j(s) - \bar{\phi}_j(s)| \frac{h_j t_j^{\alpha_i}}{\Gamma(\alpha_i + 1)} \\
 &+ nk_i \sup_{\zeta \in \mathbb{R}^+} \{e^{-\lambda \zeta} |x_i(\zeta) - \bar{x}_i(\zeta)|\} \frac{1}{\lambda^{\alpha_i}} \int_0^{\lambda t} \frac{u^{\alpha_i-1}}{\Gamma(\alpha_i)} e^{-u} du \\
 &+ e^{-\lambda t} nM \int_0^t \left| \frac{(t-s)^{\alpha_i-1}}{\Gamma(\alpha_i)} - \frac{(t-s)^{\bar{\alpha}_i-1}}{\Gamma(\bar{\alpha}_i)} \right| ds \\
 &+ \sum_{j=1}^n h_j \sup_{\zeta \in \mathbb{R}^+} \left\{ e^{-\lambda(r_j(\zeta))} |x_j(r_j(s)) - \bar{x}_j(r_j(s))| \right\} \\
 &\times \int_0^{\lambda(t-t_j)} \frac{u^{\alpha_i-1}}{\Gamma(\alpha_i)} e^{-u} e^{-\lambda \tau_j(t-\frac{u}{\lambda})} du.
 \end{aligned}$$

Applying the mean value theorem, there exists an intermediate value $\tilde{\alpha}_i$ between α_i and $\bar{\alpha}_i$, $i = \overline{1, n}$, such that

$$\begin{aligned}
 e^{-\lambda t} |x_i(t) - \bar{x}_i(t)| &\leq \max_{s \in [-\tau, 0]} |\phi_i(s) - \bar{\phi}_i(s)| \\
 &+ \sum_{j=1}^n \max_{s \in [-\tau, 0]} |\phi_j(s) - \bar{\phi}_j(s)| \frac{h_j t_j^{\alpha_i}}{\Gamma(\alpha_i + 1)} \\
 &+ \frac{nk_i}{\lambda^{\alpha_i}} \sup_{\zeta \in \mathbb{R}^+} \{e^{-\lambda \zeta} |x_i(\zeta) - \bar{x}_i(\zeta)|\} \\
 &+ \sum_{j=1}^n \frac{h_j e^{\lambda \tau}}{\lambda^{\alpha_i}} \sup_{\zeta \in \mathbb{R}^+} \{e^{-\lambda \zeta} |x_j(\zeta) - \bar{x}_j(\zeta)|\} \\
 &+ nM e^{-\lambda t} \int_0^t |g'(s)(\tilde{\alpha}_i)| ds |\alpha_i - \bar{\alpha}_i|,
 \end{aligned}$$

with $g(s)(\beta) = \frac{(t-s)^{\beta-1}}{\Gamma(\beta)}$ for $\beta \in [\eta, 1[$.

$$\begin{aligned} e^{-\lambda t} |x_i(t) - \bar{x}_i(t)| &\leq \max_{s \in [-\tau, 0]} |\phi_i(s) - \bar{\phi}_i(s)| \\ &+ \sum_{j=1}^n \mathbf{d}(\Phi, \bar{\Phi}) \frac{h_j t_j^{\alpha_i}}{\Gamma(\alpha_i + 1)} \\ &+ \frac{nk_i}{\lambda^{\alpha_i}} d_\lambda(x, \bar{x}) + \sum_{j=1}^n \frac{h_j e^{\lambda\tau}}{\lambda^{\alpha_i}} d_\lambda(x, \bar{x}) \\ &+ nM e^{-\lambda t} \int_0^t \left\{ \frac{|\ln(t-s)| - \psi(\tilde{\alpha}_i)}{\Gamma(\tilde{\alpha}_i)} (t-s)^{\tilde{\alpha}_i-1} \right\} ds |\alpha_i - \bar{\alpha}_i|. \end{aligned}$$

Where ψ is the digamma function. So

$$\begin{aligned} &\sum_{i=1}^n \sup_{t \in \mathbb{R}^+} \{e^{-\lambda t} |x_i(t) - \bar{x}_i(t)|\} \\ &\leq \sum_{i=1}^n \max_{s \in [-\tau, 0]} |\phi_i(s) - \bar{\phi}_i(s)| + \sum_{i=1}^n \sum_{j=1}^n \mathbf{d}(\Phi, \bar{\Phi}) \frac{h_j t_j^{\alpha_i}}{\Gamma(\alpha_i + 1)} \\ &+ \sum_{i=1}^n \frac{nk_i}{\lambda^{\alpha_i}} d_\lambda(x, \bar{x}) + \sum_{i=1}^n \sum_{j=1}^n \frac{h_j e^{\lambda\tau}}{\lambda^{\alpha_i}} d_\lambda(x, \bar{x}) \\ &+ nM \sum_{i=1}^n \sup_{t \in \mathbb{R}^+} e^{-\lambda t} \int_0^t \left\{ \frac{|\ln(t-s)| - \psi(\tilde{\alpha}_i)}{\Gamma(\tilde{\alpha}_i)} (t-s)^{\tilde{\alpha}_i-1} \right\} ds |\alpha_i - \bar{\alpha}_i|. \end{aligned}$$

Thus, there exists a positive constant K depending on η ($K = K(\eta)$), such that

$$\begin{aligned} d_\lambda(x, \bar{x}) &\leq \mathbf{d}(\Phi, \bar{\Phi}) + \sum_{i=1}^n \sum_{j=1}^n \frac{h_j t_j^{\alpha_i}}{\Gamma(\alpha_i + 1)} \mathbf{d}(\Phi, \bar{\Phi}) \\ &+ n \sum_{i=1}^n \frac{k_i}{\lambda^{\alpha_i}} d_\lambda(x, \bar{x}) + e^{\lambda\tau} \sum_{i=1}^n \sum_{j=1}^n \frac{h_j}{\lambda^{\alpha_i}} d_\lambda(x, \bar{x}) \\ &+ nM \sum_{i=1}^n K |\alpha_i - \bar{\alpha}_i| \end{aligned}$$

$$\begin{aligned}
 d_\lambda(x, \bar{x}) &\leq \left(1 + \sum_{i=1}^n \sum_{j=1}^n \frac{h_j t_j^{\alpha_i}}{\Gamma(\alpha_i + 1)}\right) \mathbf{d}(\Phi, \bar{\Phi}) \\
 &\quad + \left(n \sum_{i=1}^n \frac{k_i}{\lambda^{\alpha_i}} + e^{\lambda\tau} \sum_{i=1}^n \sum_{j=1}^n \frac{h_j}{\lambda^{\alpha_i}}\right) d_\lambda(x, \bar{x}) \\
 &\quad + n^2 MK d(\alpha, \bar{\alpha}) \\
 &\leq \left[1 - \sum_{i=1}^n \tau^{\alpha_i} \left(nk_i + e \sum_{j=1}^n h_j\right)\right] d_\lambda(x, \bar{x}) \\
 &\leq \left(1 + \sum_{i=1}^n \sum_{j=1}^n \frac{h_j t_j^{\alpha_i}}{\Gamma(\alpha_i + 1)}\right) \mathbf{d}(\Phi, \bar{\Phi}) + n^2 MK d(\alpha, \bar{\alpha}),
 \end{aligned}$$

with $\frac{1}{\lambda} = \tau$.
Then

$$\begin{aligned}
 &\left[1 - \sum_{i=1}^n \tau^{\alpha_i} \left(nk_i + e \sum_{j=1}^n h_j\right)\right] d_\lambda(x, \bar{x}) \\
 &\leq \max \left[\left(1 + \sum_{i=1}^n \sum_{j=1}^n \frac{h_j t_j^{\alpha_i}}{\Gamma(\alpha_i + 1)}\right), n^2 MK \right] [\mathbf{d}(\Phi, \bar{\Phi}) + d(\alpha, \bar{\alpha})].
 \end{aligned}$$

So, for all $\epsilon_1, \epsilon_2 > 0$ and $d(\alpha, \bar{\alpha}) < \epsilon_1, \mathbf{d}(\Phi, \bar{\Phi}) < \epsilon_2$, there exists

$$\delta = 2 \left[1 - \sum_{i=1}^n \tau^{\alpha_i} \left(nk_i + e \sum_{j=1}^n h_j\right)\right]^{-1} \max \left[\left(1 + \sum_{i=1}^n \sum_{j=1}^n \frac{h_j t_j^{\alpha_i}}{\Gamma(\alpha_i + 1)}\right), n^2 MK \right],$$

such that $d_\lambda(x, \bar{x}) \leq \delta \max\{\epsilon_1, \epsilon_2\}$. Thus, according to the stability definition given in the beginning of this section we deduce that the solution of the problem (1.1)-(1.2) is stable with respect to the orders of derivation and the initial condition. ■

References

- [1] Caputo, M., 1967, "Linear models of dissipation whose Q is almost frequency independent II," Geophys. J. R. Astr. Soc., 13, pp.529-539; Reprinted in: Fract. Calc. Appl. Anal. 11, No 1(2008), pp. 3–14.

- [2] Diethelm, K., and Freed, A.D., 1999, "On the solution of nonlinear fractional differential equations used in the modelling of viscoplasticity," In: Keil, F., Mackens, W., Vob, H. and Werther, J., (Eds), *Scientific Computing in Chemical Engineering II: Computational fluid Dynamics, Reaction Engineering and Molecular properties*, Springer, Heidelberg, pp. 217–224.
- [3] El-Sayed, A.M.A., and Gaafar, F.M., 2011, "Stability of a nonlinear non-autonomous fractional order systems with different delays and non-local conditions," *Advances in Difference Equations*, pp. 1–9.
- [4] Kilbas, A. A. A., Srivastava, H. M. and Trujillo, J. J., 2006, "Theory and applications of fractional differential Equations," *North-Holland Mathematical studies 204*, Ed van Mill, Amsterdam.
- [5] Nisse, L., and Bouaziz, A., 2014, "Existence and stability of the solutions for systems of nonlinear fractional differential equations with deviating arguments," *Advances in Difference Equations*, DOI: 10. 1186/1687-1847-2014-275
- [6] Podlubny, I., 1999, "Fractional Differential Equations", Academic Press, San Diego.
- [7] Samko, S. G., Kilbas, A. A. and Marichev, O. I., 1993, "Fractional Integrals and Derivatives: Theory and Applications," Gordon and Breach, Yverdon.